HERRRES

ERMFEFER
20244E5H26H(R)

28BN 11T 7EERE 212 . NIIZAR-YIEIBA B 1 ®E
1 [o]k GR&amErs)  8:19 GRa#T)  9:11
F-L% 2 3 4 5 6 7 8 Bt
ZIREFERIST 0 0 0 0
KERRIv-X 7
8% . 4[o] J-JLR
(e F— L) TZREFERI ST ARET
#BF ILAR S =847
WFE HE TE4T
(18I F— 1] KERTy—X AEHT
BF AA =24
WFE |BH T84T AH2, 2K
RGEEE R
28BN 11T 7EERE 218 1 WIZR-YILIEA B 2 =®E
1 [o]Ek GamEa)  9:39 GtaET) 10:41
F-h% 1 2 3 4 5 6 7 8 Bt
PtRSAA>RX 0 0 0 0 0
SRR XYY 3 X 7
fwZ . 4@ J-)LR
[5EI8F— 1) EiRSAA>X AREHT
BF B AR B =847
HWEFE AR, B, I T84T
(BIF—LA] ERIEE Xy AREFT
%F | ILA, Jt =847 | RIK
wFE =l TEHT | R
SiGETE R




AARREREE

ERMFEFER
20244E5H26H(R)

28BN 11T 7EERE 212 . NIIZAR-YIEIBA s 3 ®E
1 [E]E GtaBms) 11:14 GAa’T) 12:53
F—1%& 2 3 4 5 6 7 8 a5t
HLsvE-X 0 0 0 0
FamEpY > R—4 X 13 | 15 28
i 3[E] J-JLR
(e F— L) ZLovE-—X ARET
%F | BIRIL BFS. B, SiE, SHAE =247
HF =i, SRIK BFS 847
(18I F— 1] FaraaEfY > h—( X ARE4T A3, MR, IRT
%F 7R IRT =847
HF BmX 8T | B2, K&
SISEEE PG
28BN 11T 7EERE 218 1 WIZR-YILIEA B 4 A
N E L GtaRas)  13:21 GXa#RT) 14:24
F—h% 1 2 3 4 5 6 7 8 a5t
ALS514+-X 0 0 0 0
m+AY>7—X 4 X 10
i 3[E] J-JLR
[T -L] HESAF-X AREH]
&F AT, EFAZ =847
F |HEH 247 B, KRE
(BI8F— 1] m+AY>7—X AREHT
%F | T15 =247 F15
WFE A —B37
SISEEE PG




AARREREE

ERMFEFER
20244E5H26H(R)

E28EIL W 1D1Z7EERE 212 . NIIZAR-YIEIBA % 5 ®E
1 [E]E GRaBaE)  14:50 GR&®’T) 16:04
F—1%& 1 2 3 4 5 6 7 8 a5t
ERFER—ZR—ILI5T 1 0 0 1 4
A=EL5P) 1 2 X 5
=
(5 F—LA) ERFER=N=II5T | x24T
BF g, SH =847 this
®mE |hE 24T |1tEF
(8 IF— L) A= VbP) AREFT
BF =l TMRK =847 |hEF2
BE MRk, 2T T84T
SISEEE PG
E28EIL 11T 7EERE 218 1 WIIZAR-YIEEB B 1 ®E
1 [o]Ek Gamas)  8:20 Gta#ET) 10:16
F—1h% 1 2 3 4 5 6 7 8 a5t
ERREEFILYIv—X 5 6 13 26
RixH57 0 4 5 9
@ 4[] FRITIN
[5EI8F— 1) EREFILYIv—X KREIT . BEH. 1L 2%
BF B HEHE. 1Lk =847
HWE B —247 ZI)IL)IE
(18I F — 1) RIEH5T AREH A=
BF PNE, 5B PNE, DAE, K TEE | =847 |PR=E
BFE BB A= 515 — 847 |
SISEEE =0




AARREREE

ERFERERE
202445826H(H)
28BN 11T 7EERE 18 WIIZR-VYEEB £ 2 ®HE
1[o]&k GRaBas)  10:43 GRa#T) 11:44
F—-1%& 2 3 4 5 6 7 8 =
#FHISH-X 0 0 1 0 1
REFEFvL > Sy — 2 8
8% . 4[o] J-JLR
(e F— L) #gHIIH-X ARET
®F IR, =X =847
HWE =K )IR —847
(BI8F— 1] EEFEFvL > Sv— AE4T
®BF e 5L =247 e
HF 8B 8T &Lk FEI
RGEEE =H
£28MILY> 11 TEBEERS 215 1 WIIRR-YIEEB £ 3 Ha
1 [o]E GR&aBasa)  12:09 GR&aT) 13:22
F-h% 1 2 3 4 5 6 7 8 =
KEy5T 2 2 1 2 7
=2 =) 2 0 2 0 4
fwZ . 4[] BRITIN
(e F— L) KEHST REFT | BB
&F BEE. WK =247 B/, A
WFE MK, EEE — 847 | B
(BIF—LA] =Pl AREFT
®F FH. 8K =847
b T84T

SBETE =H




AARREREE

SR FEEEKER
202445826H(H)
28BN 11T 7EERE 212 . WIIZR-YELIEB £ 4 ®#E
1 [E]E GRaBal)  13:49 GREK’T) 14:46
F—1%& 1 2 3 4 5 6 7 8 a5t
+—EI7(9-X 1 0 0 0
FANLYRYYIR 2 9
8% . 4[o] J-JLR
(5 F—LA) +—EI7A(9—X AREST
BF B2, e =847 S
BT S —847
(IF— 1) FNLYRYYIR AREHT
BF HAEB. A =847
#F HR =<3
RGEEE =H
E28E@ILYI 131 7EFERE 245 W)IZAR-YIEI5B 8 5 #a
N E L GABgs)  15:08 GXa#RT) 16:27
F—1h% 1 2 3 4 5 6 7 8 a5t
INFRA =T IVA 1 1 2 8
ABEIL-IR 2 2 1 5
@ 4[] FRITIN
(e F— L) INMRA =)L REST #MAAK., FERT
F BKR TR =247 Rt
#wFE AR BT | FE2
(BIF—LA] ARBEFIL—JX AREFT
®/F 5RA. SR, 5RAR. S5 =247
HWFE Sk 847

SBETE =H



AARREREE

SR FEEEKER
202445826H(A)
E28EIL W 1D1Z7EERE 218 BEER-YILE =
EE: Gtaas)  8:22 G&#¥.T) 10:09
F-L% 2 3 4 5 6 7 8 a5t
REARBTHIN 0 8 0 10
=Bry57 4 6 10
= AEIEFRTIN X XA O N/ DIERS
[5EI8F— 1) FEARTHIN KET SH. /N2
BF |JIRE, ., T8, &=, 5, )NE =847 SH
BFE |/NE. JJIE —E47 Al
(8 IF— L) =5E9357 AREFT
BF |21 KK =847 |47
BWE K L7 T84T
RGEEE (]}
28BN 11T 7EERE &1 . FEUR-VYILE B 2 =®E
N E L GABgs)  10:36 GE&a#7T) 11:50
F—1h% 1 2 3 4 5 6 7 8 a5t
KNy57 0 0 0 2
FELYRSA AKX 0 0 X 6
@ 4[0] BFfEITIN
(e F— L) K57 AREHT
%F 74T, /£, HE =847
WF | FHERE =25
(BIF—LA] BELYRSAAKX AE4] EHEE
%F BHE. XA =247
BWFE | AKt, BHE —B37
SiGETE [HN]



AARREREE

ERMFEFER
20244E5H26H(R)

E28EIL W 1D1Z7EERE 218 BEER-YILE % 3 mA
1 [ Gamms)  12:19 GarT) 13:32
F—Lh% 2 3 4 5 6 7 8 ast
i=veP) 0 4 7
BINy3J 4 0 9
wE 3E BEfEYIN
(e F— L) BE737 ARET
1%F WA, SK. &F =847
WE EA 2 —247
(8 IF— L) = IEP) AREIT | FH
&F /WK, SBH =247 it/
WFE |FH T84T KA
SIEEFE =

P

28BN 11T VEERE &1 . FEUR-VYILE B 4 A
N E L GRABss) 14:47 GEa#&7T) 16:01
F—1h% 1 2 3 4 5 6 7 8 At
EINEIR)— 0 6 5 11
HARY-ALR 0 1
&% . 3[E] J-)LR
(5EF—LA) EIEIRN)— AE4T HOYA
%F =H =847
HF Al T84T
(BIF—LA] HARY-LZX AREFT
%F |51, ZH. KAEF. 781, T =847
WFE ZEH., T EJH T84T
SiGETE [HN]




